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Final burette reading (cm?)

Initial burette reading (cm®)

Volume of solution T used (cm?®)

YV V

a) Completetable ... ...

Complete table with 3 titrations done — 1mk
In Complete table with 2 titrations done - 1mk
incomplete table with 1 titration done — OmKks

Penalize %2 mk once for

Inverted table

Wrong anthmetic

Unrealistic titre values ( below 1 or above 50 unless explained)

b) Useofdecimals.........coooominiiiii i

Accept 1 or 2 d.p uses consistently otherwise penalize fully
If 2 d.p used the 2" d.p should be either 0 or 5 otherwise penalize fully

C) ACCUIACY ..ttt ettt et e e e e e e e

Compare the candidates titre values with the S.V
> If any value is within +- 0.1 award 1mk
> If within + -0.2 award % mk

> If beyond +- 0.2 award zero mark

d) Principles of averaging ............oooiiiiiiiiiiiiii e

1f 3 consistent titrations done and averaged 1mk
If 3 titrations done but only 2 are consistent and averaged (1mk)

If only two titrations done, are consistent and averaged  (1mk)
If 3 titrations done and are consistent but only 2 are averaged ( 0mk)
If 3 inconsistent titres averaged (0mk)
1f 2 inconsistent titres averaged (0mk)

€) Final anSWer acCuracy.........o.oveuiiriiiiriiiiie i

Compare the candidates correct average titre with S.V

» If within +- 0.1 of S.V (1mk)
> If within +- 0.2 of S.V (%5 mk)

> If beyond +- 0.2 of S.V (0mk)
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a) Calculate the:

i.  Average volume of solution T used (1 mark)

Captured in principal of averaging

ii.  The number of moles of solution Z used in titration (1 mark)
25.0x 0.4 0.01 mol
————— = \U. moles
1000
iii.  Concentration of solution T in moles per liter. (2 marks)

DOIM@[Q’S '———’_’_"_’_—_'_}A\/é"(ﬁg)& e Volume

= (GOQC»—%
laos x O- Dl ———
- *‘t
A’\/@«’C‘_Oﬁ 4t «e \[l_ ur -
iv.  Calculate the mass of sodium carbonate that reacted with solution Y. (Na= 23, C=
12, O= 16) (3marks)
1_2_.,. 6;.41‘6;“, 1ass Ol soalum carbonate that reacted with solution Y. (Na=23, C=
/\( (3marks)
Q. CO; . : dtx &
e Oof Moles of WO tn amernse S I
—n}ﬁ . e - O'O,Mol%
:250 C~ __/__..\_/ - : - 7
250 x 09|
DNEcage dakce. Volume
|T :
O‘f{_(?"r\o\\ Ausaloer ajt ~oles 0{ HCl = Z\:;QO = O-16rnsles

Moo, of MCl Mox ~eacted win Cacbanae =016~ nambec of mol
In 25 0c32

NIQL% QJ: Scokufv\ Co<xbaacte. = "‘i’(’\’\w_‘, G‘.THO(?/\(/Q_ N eoreles cbas

REM of ANa.Cl —= @ax=D+ 12+ de»2) —=\ob
\463 e B Ve gkl L
7 . Ne . D.G ~o Loy a,f . Saclium  Cacbavnode

‘Mass of dodium Coibanote = Number of ~ales of Aa:C05x(06

xy . G, S R (1 rmark)
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v.  Work out the percentage purity of solid X. (1 mark)
mass of sodium carbonate that reacted with solutionY
x 100
5
b) Write the ionic equation between solid X and solution Y. (1 mark

2 Heqp + C()ﬁ'@\cD —> (0, + W20y

3. You are provided with solid L. Carry out the test below and record your observations
and inferences in the spaces provided.

a) Describe solid. (2 marks)

b) Place half spatula of L in a non-luminous flame of a Bunsen burner.

Observations Inference
Solid melts and burns with a J—,:é _C= -
yellow sooty flame , [

(*/2 mark)

(/2 mark)

c) Dissolve the remaining solid L in the distilled water and divide the solution into four portions.

i.  To the fourth portion, add few drops of acidified potassium chromate (vi) and warm.

Observations Inference
Orange acidified potassium
chromate VI does not change to R-OH absent
green
Reject persist or remains or no
color change, no observable
change (*/2 mark)

(/> mark)
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To the second portion, add few drops of bromine water and warm.

Observations Inference
Yellow bromine water changes to cl:’ 1 s
. G "( ol C e
colorless / decolorized , r >

(*/2 mark)

(*/2 mark)

To the third portion add few drops of acidified potassium manganite (vii) and warm.

Observations

Inference

Purple acidified potassium
manganate V11 changes to
colourless

(/2 mark)

=4
] (

5 =

(*/2 mark)

To the fourth portion add a quarter spatula end-full of sodium hydrogen carbonate.

Observations

Inference

Effervescence / bubbles
produced

(/2 mark)

R-COOH

(*/2 mark)
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